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DECEMBER 2006

Code: A-06/C-04/T-04 Subject: SIGNALS & SYSTEMS
Time: 3 Hours Max. Marks: 100

NOTE: There are 9 Questions in all.

e Question 1 is compulsory and carries 20 marks. Answer to Q. 1. must be written in the space
provided for it in the answer book supplied and nowhere else.

e Out of the remaining EIGHT Questions answer any FIVE Questions. Each question carries 16

marks.
e Any required data not explicitly given, may be suitably assumed and stated.
Q.1 Choose the correct or best alternative in the following: (2x10)
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Answer any FIVE Questions out of EIGHT Questions.
Each question carries 16 marks.

Q.2 (T = 2m)
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